JEXERABINE AMI:00E# R5.1.4 (IRith1.3)
LME _ =] _ _ “SEM 3month _ - W
'YX M | RIBE %185 AIE L A5 5% AIALL i85 R H tb
) $ /ton 8,390.0 3.0 8,392.5 245 8,408.0 8.0 8,408.0 31.0 88,550 | -375
7S $ /ton 2,337.5 -23.0 2,304.0 -51.5 2,369.0] -23.0 2,335.0 -50.5 447,250 | -3050
=Tl $ /ton 31,2000 775.0 31,076.0| 816.0 31,350.0 | 800.0 31,220.0| 795.0 55,380 -96
ik $ /ton 3,004.0 -21.0 3,027.0 2.0 29700 -20.0 3,002.5 6.5 30,475 | -1550
A| $ /ton 2,3220 | -13.0 2,319.5 14.0 2,268.0| -13.0 2,271.5 0.5 25,150 0
85 $ /ton 25,050.0] 250.0 254550 4110 25,200.0 | 300.0 25,505.0| 435.0 2,995 5
_LMEﬂmiﬁ_ L _ . _ i
COMEX B[R 2ynaos | BiEE Rith27HOLMEIZ. $ASHAMIE. LMEH—T7HEIRERAHBL KD RV, B8 (NYS
- YIT 3.7660 |-00395 ;EIEHM%@EHFEI) “‘C“O)LIV!EﬁliHﬂﬁﬁ?&EﬁEliHo NY§H (3 ERfRAMEN— X TRIALE
bt b/IbT. NYIR(EHEREEIZIH. BRERMEIC
£ $ /troyoz 1,839.7 | 20.0
R $ /troyoz 24.059 0.197
REAERE (_EijEI)_TTS 1.3 13370
(+iRME&R. —lZAE%2TY) AEE 0.00
NYSE R ihig(E 1.3 131.00
+tRAR. —IZAEZrT) WHE  -0.11 HERE HE(E HtE NY & 510 Hh k& {B
BIBLMEA—7HR5| $&1E 1.3 83215 LME /i xb 1,1505 H 8,390.0 131.00
WHE 505 LME  H—7ER3|#&fE 11414 [ 8,321.5 131.00
COMEX ZiAMR#RfE 1.3 3.7650 COMEX ZARtEVIX/M 1,1389 H 3.7660 131.00
MHE  -00440 COMEX 4 F FR#&(E 11387 H 3.7650 131.00




EEEARE AM9:30~10:305#i R5.1.4
T ®=H EARE S=n ARTH
£ 1.4 1140 - 20 1,140.00
1A 1.4 448 + 21 448.00
471 1.4 820 - 4
£ 1.4 369 + 15 369.00
X AH 1/4 §f. HER. 2718, MOBRENEHSHUEL L.
LMEZ—4ovhES  OVk B R5.1.4 (Wi1.4) i) e
1?:;350 Rih BRI 3:00 e 13350 Rith B HFR5:00 1 1:00K 1%3:0 it EHFR98:00 300k 1%:?;0 Rith FHFR10:00 e
Rih = FFRI2:00 Rih = KR 4:00 B =ER7:00 Rith = BF/9:00
Cu 8356 -52 8331 -25 8323 -8 8377 54
Al 2321 -14 2312 -9 2314 2 2315 1
| N [ TR O 30705 30705
Zn 2985 -17 2976 -9 2969 -7 2957 -12
Pb 2270 -1 2265 -5 2263 -2 2267 4
Sn 25170 -335 25300 130 25355 55 25515 160
EtEE RIERZILL stEE RIERZIEL tHE RIHRZILL itHE AIHRZILL
Cuiasifa 1146.08 1103.08 1142.78 1099.78 1141.72 1098.72 1148.85 1105.85
IniRE(E 437.05 394.05 435.86 392.86 43494 391.94 433.35 390.35
X Yo—21L ~ SAmEAEEAM1:00 ~ 10AREHEBEAAM1:00%T =8 Ra AHRERORFNESETTSESE
X 91834 L ~ 10AR##HEHAAM1:00 ~ 3AREAEHAAMI:.00%T B = 9B A 1.4 13201 | -1.69
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